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FLUID MECHANICS & MACHINES
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Note : - Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i)  ¥9F ¥ F G} AT %) FAGR TF 1§ Filord |
Solve all parts of a question consecutively together.
(iii) HeH FT F1 73 T8 & T FIord |
Start each question on fresh page.
(v) @ s 7 37 g3 @ e 4 3 sgae & M E |

Only English version is valid in case of difference in both the languages.

1. (i) g gl i |
State continuity equation.
(i) TSR TR |
Explain Priming.
(iii) T GHFTE |
Explain Viscosity.
(iv) et v o S e |
Explain slip in reciprocating pump.
(v) OTgat 3 efor 3 s i wt o s w1 g fared |

Write Darcy’s formula for loss of head due to friction in pipes. (2%5)
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2.

0

(i)

(i)

fereht g <t wa™aT 0.04 poise TE TTfe vaHET 0.051 stokes B | 36 24 1 3TMH
e T hiford |

Find specific gravity of a fluid having viscosity 0.04 poise.and kinematic
viscosity 0.051 stokes.

o 1 femm sER w SegEs 59 qenh @ g AT B S fu qer
fog B o Tra 7.848 N/em? ® | forg A W 2 w17 Hifd | -

As shown in figure-1, a differential manometer is connected at two points A and
B. The pressure at point B is 7.848 N/cm?. Find pressure at point A.

Water

48 cm

f= (1) /Fig. (1)
(4+8)

A Teftew b Fefa w0 6 sEeTen oty w5 auemsd |

Explain the laboratory method for verification of Bernoulli’s theorem.

(i) AR FFoFER F AT H M4 m B 1 SHFaad 04 m ==+

HREE MR | 4 m A 2 m F91¢ 0% 35 3! @l B A o0 99 76 SR |
Cd = 0.6.

A 3m diameter circular tank contains water upto 4 m height. An orifice of 0.4 m
diameter is fitted at the bottom of tank. Find time taken by water to fall from 4 m
to 2m height. Cd = 0.6. (6+6)
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4.

(i)

(i)

(i)

(ii)

(i)

(ii)

®

(ii)

Teher Toha et gea it wrRiyureht w5 afm aui S |

Explain working of single acting reciprocating pump with sketch.

S e Sfafiren s i si wad |

Write difference between impulse and reaction turbine. (6+6)
9159 H AT hl GHIATEY |

Explain water hammer in pipes.

mﬁﬁ&ﬁﬁmmaﬁwﬁmﬁf@:ﬁrﬁm%wsﬁéaﬁ
mmwsﬁéiﬁ@m@?ﬁél

Prove that head loss due to friction is equal to one third of the total head at inlet
for maximum power transmission through pipes. (4+8)

Differentiate between the following :
(a) %W vaTE wE faggey yarg
Laminar flow and turbulent flow

(b) Ta¥ETTE T

Path line and stream line (3%2)
TR <h =HAH IO T 3 9 T i |
Derive an expression for minimum starting speed of pump. 6)

ﬁﬁm@@mmmﬁmmm%ﬁ@@mﬁm |

‘Derive an expression for total pressure and centre of pressure on a vertical plane

surface immersed in a liquid.
Teie aferem =1 afm ol Hhifed |
Describe pitot tui)e with diagram. (8+4)

P.T.O.
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8.

o 8 o ) e i ot o
Write short notes on any two of the following :
) < 1 st '
Governing of turbiné
(i) gfr sl aREdw
Hydraulic torque converter
(i) WEN

Sluice gate

755

(6x2)



